

SON CAUCHY AND BOUNDARY VALUE PROBLEMS FOR THE THIRD-ORDER DISCRETE-MULTIPLICATIVE DERIVATIVE EQUATION

Turkan Mamiyeva*

Baku State University, Baku, Azerbaijan

Abstract. In the paper Cauchy and boundary value problem are considered for the third-order discrete-multiplicative derivative differential equation. Using the definition of the discrete multiplicative derivative, the general solution of the considered problem is constructed equation depending on three constants. These constants, which are included in the general solution, are determined from the given initial or boundary conditions. The analytical formulas are derived for the solutions of the Cauchy and boundary value problems.

Keywords: Discrete additive analysis, multiplicative discrete analysis, additive-multiplicative and multiplicative-additive derivatives.

AMS Subject Classification: 26B12, 97I40.

Corresponding author: Turkan Mamiyeva, Baku State University, Z. Khalilov, 23, AZ1148, Baku, Azerbaijan, e-mail: turkanmamiyeva@yahoo.com

Received: 09 June 2021; Revised: 28 June 2021; Accepted: 21 July 2021; Published: 24 August 2021.

1 Introduction

The considered here problems have strong applications to the different fields. As example, one can mention the problem of finding the general limit of the numerical series and construction the Fibonacci sequence. For the linear differential equation with a constant coefficients of ordinary discrete additive derivatives (for the difference equations), these problems are referred to Cauchy. The main problem of the discrete analysis is to solve the problems for ordinary or partial derivative equations by replacing the derivatives with differences, at tending the step closer to zero. The question of constructing the general limit of geometric series has lead us to the question of Cauchy for the differential equation with discrete multiplicative derivative. It should be noted that the obtained problem in some cases may be also nonlinear.

Thus, we will mainly deal with the problem for the nonlinear equations. It is possible that even the given conditions are non-linear. In this case, the general solution, which depends on the arbitrary constants (the number of these constants is equal to the order of the equation), is determined, and then the constants entered into the general solution using the initial or Sarah conditions (Aliyev & Fatemi, 2014).

2 Main results

Consider the following equation

$$y_i^{[III]} = f_i, i \geq 0, \quad (1)$$

where $f_i, i \geq 0$ is given real valued series, $y_i, i \geq 0$ is seeking delivered series.

Using the definition of the discrete multiplicative derivative (1) we can write equation (1) in the followin form (Aliyev et al., 2018)

$$y_{i+3} = f_i \frac{y_{i+2}^3}{y_{i+1}^3} y_i, i \geq 0. \quad (2)$$

Let's try to derive an analytical expression for the solution of (2) by giving values to i . For $i = 0$ from (2) we get

$$y_3 = f_0 \frac{y_2^3}{y_1^3} y_0. \quad (3)$$

For $i = 1$ we get

$$y_4 = f_1 \frac{y_3^3}{y_2^3} y_1.$$

Taking into account here (3) one can write

$$y_4 = f_1 \frac{y_3^3}{y_2^3} y_1 = f_1 \cdot \frac{f_0^3 \cdot \frac{y_2^9}{y_1^9} y_0^3}{y_2^3} y_1 = f_1 f_0^3 \frac{y_2^6}{y_1^8} y_0^3. \quad (4)$$

If to set $i = 2$ in (2), then we obtain

$$y_5 = f_2 \frac{y_4^3}{y_3^3} y_2 \cdot y_5 = f_2 \frac{y_4^3}{y_3^3} y_2.$$

Taking into account here (3) and (4) we get

$$y_5 = f_2 \frac{y_4^3}{y_3^3} y_2 = f_2 \cdot \frac{f_1^3 f_0^9 \cdot \frac{y_2^{18}}{y_1^{24}} y_0^9}{f_0^3 \frac{y_2^9}{y_1^9} y_0^3} \cdot y_2 = f_2 f_1^3 f_0^6 \frac{y_2^{10} y_0^6}{y_1^{15}}. \quad (5)$$

Finally, to assure the regularity of the analytical expression of the solution to (2), let's set $i = 3$. Then we get

$$y_6 = f_3 \frac{y_5^3}{y_4^3} y_3.$$

Considering here (3), (4) and (5) we get

$$y_6 = f_3 \frac{y_5^3}{y_4^3} y_3 = f_3 \cdot \frac{f_2^3 f_1^9 f_0^{18} \cdot \frac{y_2^{30} y_0^{18}}{y_1^{45}}}{f_1^3 f_0^9 \frac{y_2^{18} y_0^9}{y_1^{24}}} \cdot f_0 \frac{y_2^3}{y_1^3} y_0 = f_3 f_2^3 f_1^6 f_0^{10} \frac{y_2^{15} y_0^{10}}{y_1^{24}}. \quad (6)$$

Since we see what it is impossible to follow the change in regularity in expressions (3)-(6), we will solve equation (1) in another way.

Let's write equation (1) as follows

$$(y_i^{[II]})^{[1]} = f_i, i \geq 0.$$

Using the definition of the discrete multiplicative derivative we ca rewrite

$$\frac{y_{i+1}^{[II]}}{y_i^{[II]}} = f_i, i \geq 0.$$

Setting values to i we get

$$\begin{aligned} \frac{y_1^{[II]}}{y_0^{[II]}} &= f_0, \\ \frac{y_2^{[II]}}{y_1^{[II]}} &= f_1, \\ \frac{y_3^{[II]}}{y_2^{[II]}} &= f_2, \\ &\dots \\ \frac{y_{i-1}^{[II]}}{y_{i-2}^{[II]}} &= f_{i-2}, \\ \frac{y_i^{[II]}}{y_{i-1}^{[II]}} &= f_{i-1}. \end{aligned}$$

Multiplying these expressions side-by-side (after excluding similar terms), we get

$$\frac{y_i^{[II]}}{y_0^{[II]}} = \prod_{k=0}^{i-1} f_k,$$

or

$$y_i^{[II]} = y_0^{[II]} \prod_{k=0}^{i-1} f_k, i \geq 1. \tag{7}$$

Introduce the denotations below

$$g_i = g_i(y_0^{[II]}, f_k) = y_0^{[II]} \prod_{k=0}^{i-1} f_k, i \geq 1. \tag{8}$$

Then equation (7) turns to

$$y_i^{[II]} = g_i, i \geq 1. \tag{9}$$

Thus, we have reduced the third order discrete derivative equation (1) to the second order discrete derivative equation (9) (Bashirov, 2013).

Now by applying the definition of the second-order discrete multiplicative derivative (1) in the second-order discrete multiplicative derivative (9) we get (Bashirov & Riza, 2011)

$$\frac{y_{i+1}^{[I]}}{y_i^{[I]}} = g_i, i \geq 1.$$

Similarly, giving values to i we can write

$$\begin{aligned} \frac{y_2^{[I]}}{y_1^{[I]}} &= g_1, \\ \frac{y_3^{[I]}}{y_2^{[I]}} &= g_2, \\ \frac{y_4^{[I]}}{y_3^{[I]}} &= g_3, \end{aligned}$$

$$\begin{aligned} & \dots \\ & \frac{y_{i-1}^{[I]}}{y_{i-2}^{[I]}} = g_{i-2}, \\ & \frac{y_i^{[I]}}{y_{i-1}^{[I]}} = g_{i-1}. \end{aligned}$$

Multiplying these expressions side-by-side (after excluding some terms) we get the following equation

$$\frac{y_i^{[I]}}{y_1^{[I]}} = \prod_{s=1}^{i-1} g_s,$$

or

$$y_i^{[I]} = y_1^{[I]} \prod_{s=1}^{i-1} g_s, i \geq 2. \tag{10}$$

Thus, we reduced the third order discrete multiplicative derivative equation (1) to the first order discrete multiplicative derivative equation (10) (Jahanshahi et al., 2011). If to denote here

$$h_i = h_i \left(y_i^{[I]} g_s \right) = y_1^{[I]} \prod_{s=1}^{i-1} g_s, i \geq 2 \tag{11}$$

then the first-order discrete multiplicative derivative equation (10) will take the form

$$y_i^{[I]} = h_i, i \geq 2. \tag{12}$$

Finally, if we apply definition discrete multiplicative derivative to the first-order discrete multiplicative derivative equation (12) we get

$$\frac{y_{i+1}}{y_i} = h_i, i \geq 2.$$

Setting values to i we get

$$\begin{aligned} & \frac{y_3}{y_2} = h_2, \\ & \frac{y_4}{y_3} = h_3, \\ & \dots \\ & \frac{y_{i-1}}{y_{i-2}} = h_{i-2}, \\ & \frac{y_i}{y_{i-1}} = h_{i-1}. \end{aligned}$$

By multiplying these expressions side-by-side we obtain

$$\frac{y_i}{y_2} = \prod_{m=2}^{i-1} h_m,$$

or

$$y_i = y_2 \prod_{m=2}^{i-1} h_m, i \geq 3. \tag{13}$$

Thus, for the general solution of the third order of discrete multiplicative derivative equation (1) we get expression (13). Here are defined by (11), are defined by via (7) and are arbitrary constants (Dezin, 1980).

Thus, we proved the following

Theorem 1. *If is a given real valued series, then the general solution to equation (1) is of the form (13). Here h_i are defined by (11), g_i are defined by (8) and $y_0^{[II]}, y_1^{[I]}$ and y_2 are arbitrary constants (Hosseini et al., 2017)*

Cauchy problem. Now we set the following boundary conditions

$$y_k = \alpha_k, k = \overline{0, 2} \tag{14}$$

to equation (1). Here $\alpha_k, k = \overline{0, 2}$ are given real numbers (Jahanshahi et al., 2011) Then the solution to Cauchy problem (1), (14) will be obtained from (13) that is the general solution to (1) (Oskouei & Aliev, 2008). First of all if to consider in (8) that

$$y_0^{[II]} = \frac{y_0 y_2}{y_1^2} = \frac{\alpha_0 \alpha_2}{\alpha_1^2}.$$

The for g_i we get

$$g_i = \frac{\alpha_0 \alpha_2}{\alpha_1^2} \prod_{k=0}^{i-1} f_k, i \geq 1, \tag{15}$$

which does not contain any discretion. Then in (11) considering

$$y_1^{[I]} = \frac{y_2}{y_1} = \frac{\alpha_2}{\alpha_1},$$

we get

$$h_i = \frac{\alpha_2}{\alpha_1} \prod_{s=1}^{i-1} g_s, i \geq 2. \tag{16}$$

Finally, putting the expression (14) for y^2 into (13) for the solution of the Cauchy problem we get

$$y_i = \alpha_2 \prod_{m=2}^{i-1} h_m, i \geq 3. \tag{17}$$

Thus, the followin theorwm is proved.

Theorem 2. *Within the terms of Theorem 1. if $\alpha_0, \alpha_1 \neq 0$ and α_2 are the given real constants, then the solution to the Cauchy problem is of the form (1), (14), (17). Here h_i are defined by (16) and g_i are defined by (15).*

Boundary value problem. Now we consider the following boundary value problem for the equation (1) at the values $\overline{0, N-3}$ of i

$$y_0^{[II]} = \alpha, y_1^{[I]} = \beta, y_N = \gamma. \tag{18}$$

Then considering the first two conditions from (8) and (11) we get

$$g_i = \alpha \prod_{k=0}^{i-1} f_k, i \geq 1. \tag{19}$$

Here g_i, y_N and $h_i, i \geq 2$ are defined unequivocally. Then, taking into account the third condition from (18) in the general solution (13) for y_2 we get linear algebraic equation

$$\gamma = y_N = y_2 \prod_{m=2}^{N-1} h_m. \tag{20}$$

Let's define y_2 from (20)

$$y_2 = \frac{\gamma}{\prod_{m=2}^{N-1} h_m}. \tag{21}$$

The solution to boundary value problem, putting (21) into (13) for the solution of problem (1),(18) we get

$$y_i = \frac{\gamma}{\prod_{m=2}^{N-1} h_m} \prod_{m=2}^{i-1} h_m = \frac{\gamma}{\prod_{m=i}^{N-1} h_m}, i \geq 3. \tag{22}$$

Thus the following theorem is proved.

Theorem 3. *Within the terms of Theorem 1 if the data α, β and γ of boundary conditions (18) are real constants satisfying $\alpha \neq 0, \beta \neq 0$ and the conditions $g_i \neq 0, i \geq 1; h_i \neq 0, i \geq 2$ are fulfilled then boundary value problem (1), (18) has unique solution defined by expression (21).*

Now for the values $0 \leq i \leq N - 3$ to the considered equation (1) we assign the boundary condition below

$$y_0 = \alpha, y_1 = \beta, y_N = \gamma, \tag{23}$$

where α, β and γ are the given real numbers (Pashavand & Aliyev, 2015).

Therefore, by putting the third boundary condition into the general solution for y_2 we obtain

$$\gamma = y_N = y_2 \prod_{m=2}^{N-1} h_m. \tag{24}$$

As result, they are determined by means of the dependent (11). Therefore, by writing the expressions (24) to (11), we get:

$$\gamma = y_2 \cdot \prod_{m=2}^{N-1} \left(\frac{y_2}{y_1} \prod_{s=1}^{m-1} g_s \right). \tag{25}$$

Here h_i are defined (11) dependently on $y_1^{[1]}$.

So if we write (8) into of (25) and consider (23) we get

$$\begin{aligned} \gamma &= y_2^{N-1} \cdot \prod_{m=2}^{N-1} \left(\beta^{-1} \prod_{s=1}^{m-1} \left(\frac{\alpha y_2}{\beta^2} \prod_{k=0}^{s-1} f_k \right) \right) = \\ &= y_2^{N-1} \cdot \prod_{m=2}^{N-1} \left(\beta^{-1} y_2^{m-1} \prod_{s=1}^{m-1} \left(\alpha \beta^{-2} \prod_{k=0}^{s-1} f_k \right) \right) = \\ &= y_2^{\frac{N(N-1)}{2}} \cdot \prod_{m=2}^{N-1} \left(\beta^{-1} \prod_{s=1}^{m-1} \left(\alpha \beta^{-2} \prod_{k=0}^{s-1} f_k \right) \right) = \\ &= \frac{\alpha^{\frac{(N-1)(N-2)}{2}} y_2^{\frac{N(N-1)}{2}}}{\beta^{N(N-2)}} \cdot \prod_{m=2}^{N-1} \prod_{s=1}^{m-1} \prod_{k=0}^{s-1} f_k. \end{aligned}$$

From the last we get

$$y_2^{\frac{N(N-1)}{2}} = \frac{\gamma \beta^{N(N-2)}}{\alpha^{\frac{(N-1)(N-2)}{2}} \cdot \prod_{p=2}^{N-1} \prod_{s=1}^{p-1} \prod_{k=0}^{s-1} f_k}.$$

It also implies

$$\begin{aligned}
 y_2 &= \frac{N(N-2)}{2} \sqrt{\frac{\gamma\beta^{N(N-2)}}{\alpha^{\frac{(N-1)(N-2)}{2}} \cdot \prod_{p=2}^{N-1} \prod_{s=1}^{p-1} \prod_{k=0}^{s-1} f_k}} = \\
 &= \left(\frac{\gamma\beta^{N(N-2)} \alpha^{-\frac{(N-1)(N-2)}{2}}}{\prod_{p=2}^{N-1} \prod_{s=1}^{p-1} \prod_{k=0}^{s-1} f_k} \right)^{\frac{2}{N(N-1)}}. \tag{26}
 \end{aligned}$$

Then the solution of boundary value problem (1), (23) can be obtained from (13) as follows

$$y_j = \left(\frac{\gamma\beta^{N(N-2)} \alpha^{-\frac{(N-1)(N-2)}{2}}}{\prod_{p=2}^{N-1} \prod_{s=1}^{p-1} \prod_{k=0}^{s-1} f_k} \right)^{\frac{2}{N(N-1)}} \cdot \prod_{m=2}^{j-1} h_m, j \geq 1. \tag{27}$$

Considering boundary conditions (23) and expressions (26) obtained for y_2 h_m are defined from (11) as follows

$$h_m = \frac{1}{\beta} \left(\frac{\gamma\beta^{N(N-2)} \alpha^{-\frac{(N-1)(N-2)}{2}}}{\prod_{p=2}^{N-1} \prod_{s=1}^{p-1} \prod_{k=0}^{s-1} f_k} \right)^{\frac{2}{N(N-1)}} \cdot \prod_{n=1}^{m-1} g_n, m \geq 2. \tag{28}$$

Here g_s are defined from (8) considering boundary conditions (23) and expression (26) obtained for y_2 as follows

$$g_s = \frac{\alpha}{\beta^2} \left(\frac{\gamma\beta^{N(N-2)} \alpha^{-\frac{(N-1)(N-2)}{2}}}{\prod_{p=2}^{N-1} \prod_{s=1}^{p-1} \prod_{k=0}^{s-1} f_k} \right)^{\frac{2}{N(N-1)}} \cdot \prod_{k=0}^{s-1} f_k, s \geq 1. \tag{29}$$

Thus the following result is proved.

Theorem 4. *Within the terms of Theorem 1, if the data α , β and γ of the boundary condition are real constants, the condition $f_k \neq 0$ is fulfilled and (26)-(29) are defined, then there exists a solution to problem (1), (23) given in the form (27).*

Note 1. The solution we obtained for the boundary value problem is not unique. So that, the solution (26) we obtained for y_2 is not unique and is obtained from the algebraic equation of order $\frac{N(N-1)}{2}$. By virtue of the main theorem of algebra this algebraic equation has number of solutions.

3 Conclusion

In the paper the Cauchy and boundary value problems for the third order equation with discrete multiplicative derivatives are considered. The analytical expressions are obtained for the solutions of these problems.

References

- Aliyev, N.A., Fatemi, M.R. (2014). On discrete derivative and integrals. *News of Baku State University*, 3, 45-49.
- Aliyev, N.A., Ibrahimov, N.S., Mammadzada, A.M. (2018). Solution of Cauchy and boundary problems for the third order compilation discrete additive multiplicative-power derivative equation. *News of Taras Shevchenko National University of Kyiv*, 1, 50-54.
- Aliyev, N.A., Fatemi, M.R. (2014). On discrete derivative and integrals. *News of Baku State University*, 36, 45-49.

- Bashirov, A.E. (2013). On line and double multiplicative integrals. *TWMS J., App. Eng.*, 3(1), 103-107.
- Bashirov, A.E., Riza, M. (2011). On complex multiplicative differentiation, *TWMS J. App. Eng. Math*, 6(1), 75-85.
- Bashirov, A.E., Mısrıh, E., Tandoğdu, Y., & Özyapıcı, A. (2011). On modeling with multiplicative differential equations. *Applied Mathematics-A Journal of Chinese Universities*, 26(4), 425-438.
- Dezin, A.A. (1980). *General Questions of the Theory of Boundary Value Problems*. Moscow, Nauka (in Russian).
- Hosseini Komlaei, R., & Jahanshahi, M. (2017). Invariant functions for solving multiplicative discrete and continuous ordinary differential equations. *Computational Methods for Differential Equations*, 5(4), 271-279.
- Jahanshahi, M., Ahmadkhanlu, A., Aliev, N., Fatemi, M. (2011). Discrete additive and multiplicative differentiation and integration and theory invariant functions. *Journal of Contemporary Applied Mathematics*, 1(1), 28-35.
- Oskouei, L.H., Aliev, N. (2008). Analytic approach to solve specific linear and nonlinear difference equations. *In International Mathematical Forum*, 3(33), 1623-1631.
- Pashavand, A.A., Aliyev, N.A. (2015). A Boundary value problem for an irrational order partial equation. *Caspian Journal of Applied Mathematics*, 39(2), 131-136.